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7HWL�)DWKRQDK�� 3HPEXDWDQ�0HGLD�3HPEHODMDUDQ�3DSDQ�3HUPDLQDQ�&KHPIXQ 3DGD�
0DWHUL�,NDWDQ�.LPLD�%HURULHQWDVL�/LWHUDVL�6DLQV�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJDQDOLVLV� KDVLO� YDOLGDVL� GDQ� PHQGHVNULSVLNDQ�
WDPSLODQ� PHGLD� SHPEHODMDUDQ� SDSDQ� SHUPDLQDQ� SDGD� PDWHUL� LNDWDQ� NLPLD� \DQJ�
EHUEDVLV� OLWHUDVL� VDLQV��3DSDQ�SHUPDLQDQ� LQL�GLKDUDSNDQ�GDSDW�PHQMDGL� DODW�EDQWX�
GDODP�SHPEHODMDUDQ PHQJHQDL�PDWHUL�LNDWDQ�NLPLD�\DQJ�NHPXGLDQ�EHURULHQWDVLNDQ�
OLWHUDVL�VDLQV��,NDWDQ�NLPLD�PHUXSDNDQ�NRQVHS�\DQJ�SHQWLQJ�\DLWX�XQWXN�PHPDKDPL�
WRSLN� ODLQ� GDODP� LOPX�NLPLD��0HWRGH�SHQHOLWLDQ� LQL�PHQJJXQDNDQ�'HVLJQ�%DVHG�
5HVHDUFK��+DVLO�YDOLGDVL�SHUPDLQDQ�LQL�PHPSHUROHK�GDWD�EDKZD�SHUPDLQDQ�LQL�OD\DN�
GLJXQDNDQ� VHEDJDL�PHGLD� SHPEHODMDUDQ� GHQJDQ� KDVLO� XML� YDOLGDVL� ������0DND� LQL�
PHQXQMXNNDQ�EDKZD�PHGLD�SHPEHODMDUDQ�SDSDQ�SHUPDLQDQ�FKHPIXQ LNDWDQ�NLPLD�
EHURULHQWDVL� OLWHUDVL� VDLQV� � LQL� YDOLG� XQWXN� GLNHPEDQJNDQ� GDODP SHPEHODMDUDQ��
7DPSLODQ�PHGLD� SHPEHODMDUDQ� SDSDQ� SHUPDLQDQ� FKHPIXQ LNDWDQ� NLPLD��PHOLSXWL�
VRDO� GDQ� PDWHUL�� \DQJ� GLOHQJNDSL� GHQJDQ� JDPEDU� ± JDPEDU� GDUL� LNDWDQ� NLPLD�
EHURULHQWDVL�OLWHUDVL�VDLQV��\DQJ�PHPXDW�NHGDODP�DVSHN�NRQWHNV��NRQWHQ��SURVHV��GDQ�
VLNDS�
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